Efficiency vs P,

= 0.4
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02

e

(00| SPRPRPPUCTS FRPPIPPPPPPL CODTRRN £ F-PPPTORIRRRS
o wBf——rn el b
% F é
x | SEEEEEE} Radhi D R

o

©

al
TTTTTTTTT

-

+

HES

=
o@
N

1 10 . Gedf’

—— DQM _CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles113
—— DQM_CKF_TT_retrainOldFiles125

- 0.2
lg r
2 0.18F
LC) r
5 0.16
(8] L
£0.14F
(]
0.12F
0.1
0.08F
0.06[
0.04F
0.02F

..............................................

...............

Ratio
=

|
Q[T

Efficiency vs ¢

o 0.1-
o F
>‘0.09 ;
2 ]
$0.08 :
o .
£0.07E
o :

0.06F

©
¢ o
N
IRRRRAN

g

Ratio
=

0.9+

0.8

TP @



	Contents
	Page 1


